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00012 (00000)000000000000O0000DO0O0OO0ODO0OODOODOOOOO

a) 000020 (x,y) 0 (u,v) OOOOOOO distance(x,y,u,v) .

b) f0000i0000000000000000 feet_to_em(£f,i) . 00001 0000=12000=
3048 cm 0 OO0

c)pl00o0000000DOODDOOOD pound_to_kg(p,0). 1000=16000= 0.4536 kg O
oo

oooo1.2

include Math
#a)
def distance (x,y,u,v)
return sqrt((x-u)**2+(y-v) **2)
end

#b)
def feet_to_cm(f,i)

return (12*f+i)*30.48/12.0
end

#c)



def pound_to_kg(p,o0)
return (p*16+0)*0.4536/16.0
end

ooo130
ooo140O
oooO1s0O
ooo1le0O
ooo1lrO



00018 (00000000)00000DD00O0DOOD0O0DO0O0O0ODDOODODOOODOOO

a) 0000 cO0000O00O0O0O0O celsius_to_fahrenheit(c) .

b) 0000 fO0D0000000OO fahrenheit_to_celsius(f).

c) 000000 (m/s) D00D0ODDOO0OvOOODOOODODOOOO ms_to_mph(v) .

d) 000000000 mph_to_ms(v) .

¢) 000000 (0D0t0)00 (vOOOOO)O0OOOOD0000 (Wind Chill Index) 0000000
gobooooo

35.74 + 0.6215t — 35.75(v°16) 4 0.4275t(v%-16)

000000000 wind_chill_index(t,v) . (000 200700 100 2000000000000 20
0000200000000000)

f) 000000000000000000000000 m/s000000000000000000000
00 wind_chill_index_celsius(t,v) .

g 00000 ax? +br+c=00000
(a) 000 b* —4acO0000 det(a,b,c).

—b+ Vb2 -4
(b) 0O 10 %DDDD solutioni(a,b,c) . (det 00OOOOODD)
a
NN/
(¢ OO0100O 4————75————£E3[]E]D 0 solution2(a,b,c) . (solutionl O solution2 DO 00O

a
01000000000007)
(d) 0000 f(x) =ax* +br+c000000 quadratic(a,b,c,x).

oooo18

#a)

def celsius_to_fahrenheit(c)
return 9*c/5.0+32

end

#b)

def fahrenheit_to_celsius(f)
return 5%(£-32)/9.0

end

#c)
def ms_to_mph(v)

return v*3600/1609.344
end

#d)
def mph_to_ms(v)

return v*1609.344/3600.0
end

#e)
include Math

def wind_chill_index(t,v)
return 35.74+0.6215%t-35.75%(v**0.16)+0.4275%t* (v**0.16)
end

#£)
include Math

def wind_chill_index_celsius(t,v)
ft=9%t/5.0+32
mph=v*3600/1609. 344
£=35.74+0.6215%ft-35.75% (mph**0.16) +0.4275*ft* (mph**0. 16)
return 5%(£-32)/9.0



end

#g)

include Math

def det(a,b,c)
return b**x2-4xaxc

end

def solutioni(a,b,c)
return (-b+sqrt(det(a,b,c)))/2*a
end

def solution2(a,b,c)
return (-b-sqrt(det(a,b,c)))/2*a
end

def quadratic(a,b,c,x)
return a*(x**2)+b*x+c
end

ooo190

0001.10(000000000)0 14300000000 heron 00000 sO000O0D0OOOOOOO
gobodoboosbOOoobooooobOboOoobboOooooooooOoooobOoOooobOOOoOoobboOooon
gobodooboosbOoOoobboooboooooon

000011000000 heron 000000000 sO0000000000O0O00O00DOOOOOODODOO
gobodooobooooboooooooooobooooboooobooooooooooOoooOoOboOooboOooon
gooo

000111 (000000000) 000000000000 0000000000 heeon DOOOODOO
o00ooO0o0oo0ooO0oo0U0oO0UoO0:000D0O000Os0O0O00O0O0O0O0OOOD?000O0
0:0000000000005%(e+b+¢)00000000000O0OOO0OOOOOODOOOOODOODO
O000mOo0O000o0o000 heron 0000000000 O0DOOOOO

oooo1.11

include Math

def s(a,b,c)
0.5%(a+b+c)
end

def calc(s,a,b,c)
sqrt(s * (s-a) * (s-b) * (s-c))
end

def heron (a,b,c)
calc(s(a,b,c),a,b,c)
end



000112 (000000000) 0 1.530000000000000000000000000DOOO
gobodoobooooboooooooooboooobooooooooooooooooooooboOooon
gobodoobooooboooooooooboooobooooooooooooooooooooboOooon
gobodoobooooboooooooooboooobooooooooooooooooooooboOooon
goooooo

a) 000011 01000#00000000000

b) 00000000 ODO0O0ODDOOOOO0OOODOODOOODO0OODODOODODOOODDOOOOOOOO
gooodo

¢) 0000000000 0DO0DO0OOODOODOO0ODOO0DOO0OD0O0ODOO0D0OODO0DDOOO0DODODO0OODO
oo

d) end0000000000000end 0000000000000 OOOOOODOOOOOOOOOODO
O00000end0OO00OOOODOO

e) 0000000 DOODOODOOOODOOOOOODODOOOODOOODOOOOODODOOOODOOOO
goboooooooooboooboooooood

oooo1.a2

a) syntax error

b) 000O0D0D0O00DOOOOundefined method 000000000000 O unexpected tIDENTI-
FIEROOOOOOOOOODOOODOOOOOOOO0O000000000000000000000ag
goboboboboooooog

¢) 00O00DO

d) unexpected $end

e) invalid multibyte char 0 0O O

2 20

obod210

00022 (00000000)0000O00DOD (x,y) D00DDODOODOO8O0DOOOY900D0O0ODOOO
00000000 image_average9(image,x,y) 00 0000000000000 image 00000000
0(x,y) DO0ODDOD0O0OODO0O0OO0DOD0OO0ODOD0OO0ODDOO0ODDOOO image0000O0O0 h, wOOOOOO
1<z<w-2,1<y<h-2000000000(0O0O00000DO00DOODOOOODOOODOOOODO
0oDoOoooooooooo)

oooo2.2

def image_average9(image,x,y)
return (image[x-1] [y-1]+image [x] [y-1]+image [x+1] [y-1]+
image [x-1] [y] +imagel[x][y] +imagel[x+1][y]+
image [x-1] [y+1]+image [x] [y+1]+image [x+1] [y+1])/9.0

end

00023 (00)

a) al000000 10000000000 x00000000000D00D0000OOO0 sum3(a,x)
0000000 x000 10000 (a0000-1)0000000000000000000000O0
000 ab [1,2,3,4] D00 sum3(a,1) 0 6 0Osum3(a,2) 0 90000

b) alx000000000000D0O0D0OO0DOOD array_average3(a,x) 0000000 x000O 1
0000 (a0000-1)00000000000000 a0 [1,2,3,4] 000 array_average3(a,1)
O 2.0, array_average3(a,2) 0 3.0 0000



oooo23

#a)

def sum3(a,x)
alx-1]+al[x]+al[x+1]

end

#b)

def array_average3(a,x)
(alx-1]+alx]+a[x+1]1)/3.0

end

oooz240
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0003.1(000)00x0000000000 abs(x) 000000

oooo3.1

def abs(x)
if x>=0
X
else
-X
end
end

00032 (0000000000)00D0Dn000000D0 0D0O0O0O0OO0OO 1000000000
makeld(n) 000000 (000: 30000 8000000000000O00OOODOOOOOO)

oooo3.2

def makeld(n)
a = Array.new(n)
for i in 0..(n-1)
al[il = 0
end
a
end

00033 (20000)h00wODOOOOOO make2dthyw) 000D 0O000D00O0ODOOOODOOOO
ooooooOO

oooo3.3

def makeld(n)
a = Array.new(n)
for i in 0..(n-1)
alil = 0
end
a
end

#00OOODOOO0O makeldOOOOOOODO rbO00000000C0O0O00O0 loadOOOOOOOO
#load("./makeld.rb")

def make2d(height,width)
a = Array.new(height)
for i in 0..(height-1)
ali] = makeld(width)

end



a
end

0003403200000000 b(rxy) 00000 (x,y0OOOOr00000000000000
0 0 )0 show(sphere(20)) 000000 3.1 0000000000000000000

oooo34

include Math

def d(r,x,y)
return sqrt((r-x)**2+(r-y)**2)
end

#distance.rb 000000 distance(x,y,r,r) 00000000 ODOODOOO

def b(r,x,y)
if r >= d(r,x,y)
(r-d(r,x,y))/r
else
1
end
end

00035 (0000)000000000000O0OOOODO

a) 20000 ar’? +br+c=000000000000 solutions(a,b,c). 000000 OODOOO10D0O
gbobobobooooooon
b) 20000 ar? +br+c=00000010000 solvel(a,b,c). 00 O0DOOOODOOD1DOO0ODOO
gboobobooooooo
¢) 3000000x%x,y,z0000000000000000 median(x,y,z). 0000000000000
gbobobobooooooooon
d) 00000 income 0000000000000 OOOO income_tax(income) . 000 2008 00O
gboboboooooooobobobobo
O0al195 00000000000 5% .
ObO195 000000 330 00000000000 10% .
O0cO0330 000000695 00000000000 20% .
0doed%5 00000090 00000ooooooo 23% .
Oed900000000 1,80000000000000O 33% .
0f01,800 0000000DO0OOOO 40% .
goopoooooooooooooOOOOOODOODOODOODDO 2000000000000D0OO00
195000000 5%,00055000000 10%000000000095x0.05+(250—195)x0.10 =
15.25(00)00000000000000000 19% 00900000 105000000000000
00o0o0oo0o0oo0oo0o0ooooooooooooow0onoooooooooooooo
e) OO0 year 0 200000000 days_of_february(year) . 00 0O0year 00000000 DOOO0O
gboobobooooooo
(a) year 0 400000000000O00O0OO
(b) OO (2) 00000000 Oyear 0 100000000000000
(c) OO (b) 0000000 DDOyear 0400 0000000000000
f) OO0 year 0 month 000D DO OO0 days_of_month(year,month) .



oooo3.s

#a)
def solutions(a,b,c)

1

0

if a==0
1
end
if det(a,b,c)>0
2
elsif det(a,b,c)==

else

end

end

#b)
def solutioni(a,b,c)

return (-b+sqrt(det(a,b,c)))/2+*a

end

def solvel(a,b,c)

if a==0

-c/b

elsif det(a,b,c)>=0

solutionl(a,b,c)

p

else
"No answer"
end

end
#c)
def median(x,y,z) #sort 000 0000000000000 0000O0O0OOOO

if x >= max(y,z)
max (y,z)

elsif y >= max(x,z)
max(x,z)

else

max (x,y)

end

end

#d)
def min(x,y)

if x>=y then return y
else return x
end

end

def income_tax(income)

tax195 = min(income*0.05,195%0.05)

tax330 = min((income-195)*0.1, (330-195)*0.1)
tax695 = min((income-330)*0.2, (695-330)*0.2)
tax900 = min((income-695)*0.23, (900-695)*0.23)
tax1800 = min((income-900)*0.33, (1800-900)*0.33)
tax18000 = (income-1800)*0.4

if income<=195 then return tax195

elsif income<=330 then return tax195+tax330

elsif income<=695 then return tax195+tax330+tax695

elsif income<=900 then return tax195+tax330+tax695+tax900

elsif income<=1800 then return tax195+tax330+tax695+tax900+tax1800
else return tax195+tax330+tax695+tax900+tax1800+tax18000

end

end



#e)

def days_of_february(year)
if year’%400 == 0 then return 29
elsif year’,100 == 0 then return 28
elsif year’4 ==0 then return 29
else return 28
end

end

#£)
def days_of_month(year,month)
case month

when then return 31
when 2 then days_of_february(year)
when then return 31

1

2

3

when 4 then return 30

when 5 then return 31

when 6 then return 30

when 7 then return 31

when 8 then return 31
when 9 then return 30
when 10 then return 31
when 11 then return 30
when 12 then return 31
end

end

00036 (000000000)00 35c0000000 median 00000000 (a)ify<xO00O0O
000000000 medianl O0O(b) & 0000000000000 000O000O0OO0ODOODO median2
gobobobooobooooooooooocoooo

oooo3.6
#median1 0O 0OD0OOOO0O 3.5cO00000000O

def median2(x,y,z)
if (x>=z&&z>=y) | | (y>=2&&z>=x) then return z
elsif (y>=x&&x>=2z) || (z>=x&&x>=y) then return x
else return y
end

end

0003.7(000000000)0000000O0OO0ODOOOOOD

a) x0yDOODODODOOO0OOO divisible(x,y).

b) x<y<z0OO0OOOOOOOOO ascending(x,y,z)

¢) 00 yOOOOODODOODOODOODO leap_year(y) . 000000000 DO0ODOOOOOD 4000
0000000000000 DO00D 1000000000000000D0 40 (1000D0O00)0OD00OO
000000000 0DO00DOOo0oDOoOooOooog 1900000002000 00000200800000
210000000000

d) 00i000a000000000000O0O within_range(a,i) . 00000 aO000 00000
OO0 Oalength() 0000O0O00O

e) 00 (x,y) 00000 img 00000000000 within_image(ing,x,y) . (000: 00000
0 within_range 00O 0OD0)



ooooas.r

#a)
def divisible(x,y)
if xhy ==
true
else
false
end
end

#b)
def ascending(x,y,z)
if y == median(x,y,z)
if x<y then
true
else
false
end
else
false
end
end

#c)
def leap_year(y)
if days_of_february(y) == 29
true
else
false
end
end

#d), e)
def within_range(a,i)
if 0<=i && i<a.length()
true
else
false
end
end

def within_image(img,x,y) #Ruby 00 0000000000000 O00OODOOO0OODODOOOOOO

imgeDUO0OOOOOOOOO

if within_range(img,y)&&within_range(img[0] ,x)== true

true
else
false
end
end

00038 (0000)00000000000000000000000000000000000000
000000000000 xor(x,y), implies(x,y) 000000

x y | zor(z,y) implies(z,y)
false false false true
false true true true
true  false true false
true  true false true




oooo3.8

def implies(x,y)
if x==true && y == false
false
else
true
end
end

def xor(x,y)
if x==y
false
else
true
end
end

00039000)0b00oouoooooooo

a) 200000, t000000000000000 longer(s,t).
b) 002000000s000000000000000000000 trim(s). D00 trim("abe”))”b”
oooo

¢) 000sO00D00D0ODO0DO0OD0OOO0DODOD upsidedown(s). 00O upsidedown(”takeover” )=

“overtake” 0000000000000 DDO0ODO upsidedown("least”)= "stale’0 00000000
oooo

oooo3.9

def longer(s,t)
if s.length() > t.length() then return s
else return t
end

end

def trim(s)#s.strip00000000000O00OOOO
s = s[1..s.length()-2]
return s

end

def upsidedown(s)
if s.length(0%2 == 0
sl = s[0..s.length()/2-1]
s2 = s[s.length()/2..s.length()-1]
s =82 + sl
return s
else s.length()%2 ==1
s1 = s[0..(s.length()-1)/2-1]
s2 = s[(s.length()-1)/2+1..s.length()-1]
s = s2+s[(s.length(0-1)/2]+s1
end
end



0003100000000000000)

a) al 1000000000a0x000000000000000O00O length3(a,x) 000O00O0DOO!
oobabOoOonoogno

3 0<z<l—1)
length3(a,z) =< 1 (x = 0andl = 1)
2 (I > land(z =0orx =1-1))

0: 00000000000 sum3(a,x) 0000000000 DOOOODO

b) 00 22 00000 image_average9(image,x,y) U0 D00 23 00000 sumd(a,x),
array_average3(a,x) 00Ox(0 y) 0000000000000 DO0OO0DOO0OO0DOO0OODOOOD
0000 image_average(image,x,y),sum,array_average(a,x) 000000000 a O [1,2,3,4]
000 sum(a,3) 030400000 700000

¢) D00 a0i0d00j000000000D0O0O0 swap(a,i,j) 0000

d) 00aDi000i+100000D0000DO0O0DO0OODOOODOOOOOODOOODOOOODOO
swap_ascending(a,i) 00 00O

ooooas.io

#)a
def length3(a,x)
1 = a.length()
if 1==1 && x==0 then return 1
elsif 0<x && x<1-1 then return 3
elsif 1>1 && (x==0 || x==1-1) then return 2
else return O
end
end

#b)
#for 100000 DOODOL,H 0000000000000 00O0ODO0O0O0O0O0O000O0ODOOOOOO0OO0
gbobooboobbooboobbooboon
def image_average(image,x,y)
scaleX = image[0].length()-1
scaleY = image.length()-1
if scaleX==0&&scaleY==0
image [0] [0]
elsif scaleX==0
a = Array.new(image.length())
for i in 0..scaleY
alil=image[i] [0]
end
array_average(a,y)
elsif scaleY==0
array_average (image [0] ,x)
elsif x==0&&y==
(image [0] [0] +image [0] [1]+image[1] [0]+image [1] [1])/4.0
elsif x==0&&y==scaleY
(image [scaleY] [0] +image [scaleY] [1]+image [scaleY-1] [0]+image [scaleY-1][1])/4.0
elsif x==scaleX&&y==
(image [0] [scaleX]+image [0] [scaleX-1]+image[1] [scaleX]+image[1] [scaleX-1])/4.0
elsif x==scaleX&&y==scaleY
(image [scaleY] [scaleX]+image [scaleY] [scaleX-1]
+image [scaleY-1] [scaleX]+image[scaleY-1] [scaleX-1])/4.0
elsif y==
(image [0] [x-1]+image [0] [x]+image [0] [x+1]+image [1] [x-1]+image [1] [x]+image[1] [x+1])/6.0
elsif y==scaleY
(image [scaleY] [x-1]+image[scaleY] [x]+image [scaleY] [x+1]
+image [scaleY-1] [x-1]+image[scaleY-1] [x]+image [scaleY-1] [x+1])/6.0
elsif x==
(image [y-1] [0]+image [y] [0] +image [y+1] [0] +image [y-1] [1] +image [y] [1]+image [y+1] [1])/6.0



elsif x==scaleX
(image[y-1] [scaleX]+image[y] [scaleX]+image [y+1] [scaleX]
+image [y-1] [scaleX-1]+image [y] [scaleX-1]+image [y+1] [scaleX-1])/6.0
else
(image [x-1] [y-1]+image [x] [y-1]+image [x+1] [y-1]+image [x-1] [y]
+image [x] [y]+image [x+1] [y]+image [x-1] [y+1] +image [x] [y+1]+image [x+1] [y+1]1)/9.0
end
end

def sum(a,x)
array_average(a,x)*length3(a,x)
end

def array_average(a,x)
if length3(a,x) ==
(alx-1] + alx] + alx+1])/3.0
elsif length3(a,x) ==
a[x]
elsif x ==
(al0]+al1])/2.0
elsif x == a.length()-1
(ala.length()-1] + ala.length()-2])/2.0
else
0
end
end

00003.10 ¢)

def swap(a,i,j)
ai = ali]
aj = aljl
alil = aj
aljl = ai
a

end

00003.10 d)

def swap_ascending(a,i)
if ali] > ali+1]
swap(a,i,i+1)
else
a
end
end

000311 (00000) 000 N0 i00000 i/ 000000000 1 000000OOOO
gradation(n) O0O0ODO0O(D0OO: makeld 0 000000000 DiIi0000O00O0O0ODOOOODOO
0000000000000 00000D0o0OooOD)

oooo3.11

def gradation(n)
a = Array.new(n)
for i in 0..(n-1)
alil = i/(n/1.0)
end
a
end

ooo3.120
ooo3.130
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00041 (0000D)000001 0000000000000 D00OO0DODO0O0OO0DOO0O0OD sod O
000200000 n000000000 true, 00000000 false0 0000000 prime(n) 00O
O00mO1000000000000000O0prime(1) 000 true00 false 0000000ODO)

0ooo4.1

def sod(k,n)
if n >= 2
if k¥n ==
sod(k,n-1) + n
else
sod(k,n-1)
end
else
1
end
end

def prime(n)
if n >= 2
if sod(n,n) ==1 + n
true
else
false
end
else
false
end
end

00042 (000000)n 000 kOOODOODOOOOO ,C, O0O0O combination(n,k) 0000
ooooo .Gy 000000000000 ooooDO

0 (ifk >n)
n—1Cr_1 +n_1 Cr otherwise

000000n000kOOO0OO0DOOOO0OO0On0OO00O0O0O0O100000000000000D00O0N-1
000 k-100000000000000000Nn-1000k0O000O0000O000O0O000O00O0O0O0OO
oooo4.2

def combination(n,k)
if n < k then return O

elsif n == k then return 1
elsif k == 0 then return 1
elsif k == 1 then return n
else return combination(n-1,k-1)+combination(n-1,k)
end
end

00043 (00000000)00000D0O0DO0O0ODOOOO0OD 1000000000000 OO0OO
ed 0000000000000 prime2(n) 00000000 4100000 prime 00000O0OODO
gobogoboo



oo0oo4.3

#the greatest divisor of k in between 1 to n
load("./divisible.rb")

def gd(k,n)
if divisible(k,n)
n
else
gd(k,n -1)
end
end

def prime2(n)
if gd(n,n-1) ==
true
else
false
end
end

00044 (0000000000)00 4200000 combination0O0 000000 combination_loop
00000000000000000n, k0000000000 0n, kOOOOOOO0OO0OO0O0O00000O
ooo0ooooooooooooo

oooo44
oobobooooooooooooOooOoboOoobOoOoOoOooOoOoooboOooon

oooO4.50
00046 (000000D0O0D0O0UOOD)D00D0OO0O0OOOOOOOODOOODO RUDyOODOODOO
ooo

a
b
¢
d

n000000 100n0000n! 0000 factorial_loop(n) .
2" 0000 power2_loop(n) . 00O O0O0OO0OOOOO
2" 0000 power_loop(x,n) . 00O00O0**ODO0O0O0OO0DOOO
0000000000000o0ggg taylor_e_loop(x,n) .

D%
k=0
(n—oo00O00O0ODOO "0 Taylor 0D ODOODOD)
oooo4.6

)
)
)
)

def factorial_loop(n)
var = 1
for i in 1..n
var = varxi
end
var
end

def power2_loop(n)
var = 1
for i in1 .. n
var = varx2
end
var
end

def power_loop(x,n)



var = 1
if n ==
1
else
for i in 1..n
var = var*x
end
end
var
end

0

def taylor_e_loop(x,n)
var = 0
for i in 0..n
var = var + (xx*xix1.0)/factorial_loop(i)
end
var
end

00047(000000000000O0DO0O0O0U0OD) 000000000 O0OO0ODOODOOOO Ruby O
coooocooon

a) 100 n 00000000k OO0OO0OD0O0ODDOOOOOQO (number of divisors) 000 O
nod_loop(k,n). (0O0O: 045000000000)

b) 100n00000000000000O0O0OO00ODOOO (number of primes) 00 OO nop_loop(n).

¢) 100n0000000000000000ODO0ODO0OOO0DOODODOOOOOOO0O0O0 (maximum
sum of divisors) 0 0 0 0 msod_loop(n).

oooo4.r

def nod_loop(k,n)
ount = 0
for i in 1..n
if k¥%i == 0
count = count + 1
end
end
count
end

def nop_loop(n)
count = 0
for i in 1..n
if nod_loop(i,i) == 2
count = count + 1
end
end
count
end

def msod_loop(n)
var = 0
for i in 1..n
if sod(i,i) >= var
var = sod(i,i)
end
end
var
end



00048 (00000DODOOODOOOOOODD)00000OO0ODUOODOODO0ODODOO RubyOO
goooooo

a) n00000000000000000000 (next prime number) 00 00 np_loop(n).

b) 00 p00000000D0O0ONnO0000OOOO0OOO nth_prime_loop(p,n).

¢) 032000 3.1(p. 35) 0000000 tnpo(n) D n0DO00D 1/2, 00003000 100000
000000000000 Collatz0OODODODOD n 000000000 OOOOOOOOOOOOOO
goooooooobo1o0o00bo0obooobooo 3bo0oboooooobooobDooobDOooboOoDo
000000ooooooo0o0o00o00ooooD 1000003=10=25=16=28=4=2=1
goooooOOo0ooboOobo0ooOoOOoOoboOoooOoooO0o0oDODOonoOoOO0OOO0OOOOODOOO0O 1D
00000000 collatz(n) 0000 OO0 collatz(5) = 5, collatz(16) = 4 0 0 O O collatz(n) OO O
0O Ruby 00O collatz_loop(n) DO OODOO

d) n0000000D0000000000 next_perfect_loop(n). 00DDO0O kOO kOOODOO
00k0O0O0O0OOD0O0O0OOODODOO0OOOD0O0OO0 60000 (60000)3,2,100000000006
00000 600000D0000C0COn00000C0O0O000000DO0O perfect_loop(n) ODODODO
goobooo

000048

def np_loop(n)
var = n
while prime(var) == false
var = var + 1
end
var
end

def nth_prime_loop(p,n)
count = n
var = p
while count != 0O
var = var+l
if prime(var) == true
count = count-1
end
end
var
end

def tnpo(n)
if n%2 ==
n/2
else
3*%n + 1
end
end

def collatz_loop(n)
count = 0
var = n
while var != 1
var = tnpo(var)
count = count+1l
end
count
end

def perfect_loop(n)
if sod(n,n) == 2*n
true



else
false
end
end

def next_perfect_loop(n)
var = n
while perfect_loop(var) == false
var = var + 1
end
var
end

00049 (000000000)000000O0DO00OL0ODO0O0 RUbyOOOOOOODOOOOODOO
oooood

a) n000000100n0000n! O00OO factorial(n) .
b) 2" 0000 power2(n) . OO0 DO0ODO0ODODODOO
¢) z" 0000 power(x,n) . 00000000000 ODOOO
d) O000D0OD000O0OD0O00O00O taylor_e(x,n)
>
k=0
(nHOODDDDDDDD ez[ITaylorDD[IDDDD[ID)
ooood4.9
def factorial(n)
if n == 0 then return 1
elsif n == 1 then return 1
else return factorial(n-1)*n
end
end

def power2(n)
if n == 0 then return 1
elsif n == 1 then return 2
else return power2(n-1)*2
end

end

def power(x,n)
if n ==
1
else
power (x,n-1)*x
end
end

def taylor_e(x,n)
if x == 0 then return 1
elsif n == 0 then return 1
else return taylor_e(x,n-1) + (x**n)*1.0/factorial(n)
end
end



000410 (00000000)0000430600000 10000717 000000000sum(n)
ooooooooooog?

00004.10

# sum of the numbers from 1 to n
def sum(n)
if n >= 2
sum(n -1) + n
else
"1" #character’l’
end
end

00o0oU00o0o0oUo0oO0oUoOU0oO0oULOU0O0OULO0O000DO0O00DLOU0O0ODOUOOoOUOO
0000000000 00000000 NumericOOOOOODOOOOO String00000000ODOOO
0000000000000 0000000000Ocan’t convert Fixnum into String (TypeError)

000411 (000000000 0ODO0O0OOO)0D0000ODUOOOOO0O0OOO0 RUbyOOOOOOODOO
ooboooooooooo

a) 100 n00000000kO0O00O0O0O0DODOOOOOOO (number of divisors) 000 O nod(k,n).
(00D0:045000000000)

b) 100n00000000000000O0OOOOOOO (number of primes) 00 OO nop(n).

¢) 100n000000000000DO0O0UODO0ODOOOODOODODOOOOUODOOD (Mmaximum
sum of divisors) 0000 msod(n). sod(k, k) =s, 00 0000000DO0O0OOOO s; 00 s, 00
goooooboobobo™s, 00 s, UOO00oo0ds; 00 s,y OO0 Oo0OO s, OODODOODO
gboobobobooooobooboboboboooooooboDoboboboo

msod(n —1) (msod(n —1) > s,)
msod(n) = Sn (msod(n —1) < sp)
51 (n=1)

oooo4.11

def nod(k,n)
if n >= 2
if kn ==
nod(k,n-1) + 1
else
nod(k,n-1)
end
else
1
end
end

def nop(n)
if n >= 2
if prime(n) == true
nop(n-1)+1
#prime 0000000 trued 0000000 falseOOOOO
else
nop(n-1)
end
else
1
end
end

def msod(n)



if msod(n-1) >= sod(n,n)

msod(n-1)

elsif msod(n-1) < sod(n,n)

sod(n,n)

elsif n ==

1

end

end

000412 (00000000000 000)00DO0O0O000O0DO0O0O0O0ODO RWbyOODOOOODOOO
goboooooooooo

a)

n00000000000000000000 (next prime number) 000 np(n). O000On000
000000 np(n)=n0000000000000np(n) 00n+10000000000000000
ooo

b) 00 p00000O0D00O0OOn000D0O0OOODO nth_prime(p,n). 000 nth_prime(5,3) O 5
oopboOoooOoOobo 30booOooobos0ooooobo vyoooyooooOoOoDOOOD 20000
O nth_prime(7,2) 00000000000 700000 1100000000000 1000000
001100000 13000000 00ooon
¢) 0320003.1(p.35) 0000000 tnpo(n) 0 n 00000 1/2,00003000100000
000000000000 Collatz 0O ODODODO n 000000000 OOO0OOOOOOOOOOOO
goooooooobo 10oo0oboo0oDOOo0oboOoOo 3b0dboboOoooobDoOobDOoOoboboOooboODo
0000000000000 O000C00000D 1000003=10=25=216=8=4=2=1
gooooooOOoO0oobOoOoDbDOoO0OOO0OOO0OoOoOooOo00oDODOonOoOoOOOOOOOOODOOO 1O
00000000 collatzin) 0000000 collatz(5) = 5, collatz(16) =4 0000
(a) collatz(n) O collatz(tnpo(n)) DOODOODO
(b) collatz(n) 0000 Ruby 00O collatz(n) 000000
d) n0000000000000D0000 next_perfect(n). 000000 kOO kODOOODOOOO
kO00D0OO0D00OD00O0OO00O0O0O0o0O0oD0o 60000 (6000D0)3,2,100000000006GD0O
0000 600000000000 n0OD0D0O0O0O0OOCOODOO0OO0OO perfect(n) DOOOODODODO
gogd
oooD4.12
def np(n)
var = n
if prime(n) == true
n
else
np(n+1)
end
end
def nth_prime(p,n)
if count != 0
prime(np(p),n-1)
else
p
end
end
def tnpo(n)
if n¥%2 ==
n/2
else
3*n+1
end

end



def collatz(n)

count = 0
var = n
if n==1
0
elsif nj%2 ==
var = n/2
count = 1 + collatz(var)
else

var = 3*xvar + 1
count = 1 + collatz(3*n+1)
end
count
end

def perfect(n)
if sod(n,n) == 2*n
true
else
false
end
end

def next_perfect(n)

if perfect(n) == true
n
else
next_perfect(n+1)
end
end

0004.13 (Eratosthenes 00 ) 000000000 100 Eratosthenes 00D 00000000000
00000000000000000000000000O00000O00000O00000DO00O00000O
0000000D00000000000000200n00000000000000000D00 primes(n)
o0oo00bO0o0o0o0boO0o0o0ooo0iooooiobooOooo oo, 0o00bO0o0o0 100000

oooo4.13

load("./prime_loop.rb")
include Math

def primes(n)
era = Array.new(n+1)
var = 2
for i in O0..n
eral[i] = 0
end
eral[0],eral1] = 1,1
while var <= n
for i in (var+1)..n

if i%var == 0
erali] =1
end
end
var = np_loop(var+1)
end
era

end



00D04.14 (Sierpinski 0000 ) 000 nxn D010 j0O00 (;C;02000000)0000000
O0000O0OO0OO0DO sierpinski(n) 000000

00004.14

load("./make2d.rb")
load("./combination.rb")

def sierpinski(n)
array = make2d(n,n)
for i in 0..n-1
for j in 0..n-1
array[j][i] = combination(j,1)%2
end
end
array
end

0004.15 (00000000)0000 48 0 match 00000 sO0 pO0O0OOODOODODOODOO
O000OpO00O00000O0DO0 —10000 match_safe(s,p) JO0O0O0O0O

oooo4.15
def submatch (s,i,p,w)

j=0
g s[(i+j).. (i+1)] == p[j..5]

def match_safe(s,p)

i=0
w = p.length()
var = 0

for k in 0..s.length()
if submatch(s,k,p,w) >= var
var = submatch(s,k,p,w)
end
end
if var '= w
-1
else
while submatch(s,i,p,w) < w
i=1i+1
end

end
end

5 50
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00054 (00000)0000 520012000 B300D0O0D0ODOD0O0O0D0ODO0D0O0ODODOOOOOOO
gooooooooooooo

0000540000 520000000000000000000000000000000OO
def fibl (k)
f=1
pl =1
for i in 2..k
pl = £ #fib(i -1)
p2 = pl #fib(i -2)
f = pl + p2 #fib(i)
end
f #fib(k)
end

ooboboooooooooboooboooodg

ooos50

ooos.60

00057 (00000)00 ADO0OO0 A"OU0OU0DO0OOD matpower(a,n) 00000DO0OODOOOOOO
000 2x2000000000000002000000000000020

a) 00 a, b000D0O0U0O matmul(a,b) 000000000 : 000 2x20000000000000
gobooocooooono

ago  ao1 boo bor \ _ ( aooboo + ao1bio  aoobor + aoibi
aip a1l bio bn a10boo + a11b10  aiobor + a11b11

b) D0 a0000000 matsquare(a) O matmul 000000000
c) 0511000000 a0 n00000 matpower(a,n) 000000

oooos.r

#a)

def matmul(a,b)

ans = make2d(2,2)

ans[0] [0] = a[0] [0]*b[0] [0]+a[0] [1]1*b[1] [0]
ans[0] [1] = a[0] [0]*b[0] [1]+a[0] [1]*b[1] [1]

ans[1] [0] = a[1] [0]*b[0] [0]+a[1] [11*b[1] [0O]
ans[1]1[1] = a[1] [0]1*b[0] [1]+a[1] [1]1*b[1] [1]
return ans

end

#b)

def matsquare(a)
return matmul(a,a)

end

#c)

def matpower(a,n)

if n == 0 then return [[1,0],[0,1]]

elsif n)2 == 1 then return matmul(a,matpower(a,n-1))
elsif n)2 == 0 then return matsquare(matpower(a,n/2))
end

end

00058 (000000 Fibonacci 000O)00 5700000 matpower(a,n) 0000 fib(k) OO
0000 fiem(k) OOODOODOOOCfiom(k) O fibl(k) OO0ODOOOOO0OOOOODOO kOOOOO
oooo



oooos.8

def fibm(k)
q = make2d(2,2)
a=[[1,11,[1,0]]
q = matpower(a,k)
ql11[0]+q[1]1[1]

end

ooos90

0005.10(00000)00 a0 (000 O0DOOOOOOO)IODDODODUODOOOODOUODODO
000000 min_index(a,i) 00000 53 000000000000000000

oooos.10

def min_index(a,i)
min = ali]
min_num = i
for k in (i+1) .. (a.length-1)
if al[k] <= min
min = alk]
min_num = k
end
end
min_num
end

def simplesort (a)
for i in 0..( a. length() -1)
k = min_index(a,i)

v = ali]
ali] = alk]
alk] = v
end
a
end

000511 (00)0000540000000000000O0 merge 0000DODOO

oooos.11

def merge(a,b)
¢ = Array.new(a.length()+b.length())

ia =0
ib =0
ic =0

while ia < a.length() && ib < b.length(Q)
if alial < bl[ib]
clic] = alial
ia = ia + 1
ic = ic + 1

else
clic]l = blib]
ib = ib + 1
ic = ic + 1
end
end

if a.length()-ia >= 1
for k in (ia+ib) .. (c.length()-1)
clk] = alk-ib]
end
else



for k in (ia+ib) .. (c.length()-1)
c[k] = blk-ia]
end
end
c
end

ooos.120
oo05.130

000514 (000000000DO)

1. 000000000000 42(p. 53) 000000000000 OODOOODOODOOOO
2.00o0o0oo0oobo43100000000000000CCO0COCOODOOGOOOOO

000515 (00000000)000s00000 PpUOOOODOOOLOOODOODOOO 4320 (p.
56) 0 000000000sO0pO000n,mI00O000O000O0O0OO0O0O0O0O0D0O00 nmOO00OO0

n—1 m—1

O00:0000000000000s00Ga---ab@pO0aa---ab0000000000000O submatch
Omatch 000000000000

000516 (00000000)0000DO0O0ODNnO00DO0O0DOODOOUOOOOODOOODOOOOODO
gobbooooboooobooooooOooOoOoOOoO0oOobOOoOoOobOOoOoOooOoOooOoOOoOobOOOoOoOoDbboOoon
00000000 101000000 (D00 o000364000)0000DO0O0OU0ODOODOOOOUOD
oo0o0n0O00DbDOOOODOOOOODOOOODODOOOOODOOO

oooooo 1. 00o0oooooocoo0oooooOmOOOO0OOCOOO0OO0O0OOODOOOOOOOOOOO
o000 10000000000 bOOOOOODODOOOODOOOOODOOOOODOOOO
ooooooloo00oooooo0oooooOoomO 100000000C0O0000O
oooooo

oo0o0ooo 2. 0000000000000000 mO000O0O0O0O0OOOOOOOOOOO0ODOOODb
oobooooboocoooboooooOooobooOoOoOooOoOoOboOoOoOboOobOOoOoOobooOoOooon
00000000000 k00000kO020000000000000000m0OkA0O
ooboooooooooboocooood

000000 3: 0000000000000 00000 36000 cOOOOODOODOOOODOODODO
000000dD0D100000000000000O0 cd]0 100D0OO0O0O0ODOODOOD
oooooooooOooocOOOOOODO 2000000000000000A0

oooos.16

def birthdayi(b)
n = b.length()

m=0
for i in 0 .. (n-1)
temp = 0
for k in 0 .. (n-1)
if i==

elsif b[il==b[k]
temp = temp + 1
end
end
if temp >=1 then m = m+l1 end
end
m
end



def birthday2(b)

m=0
b = mergesort(b)
index = 0

for i in 0 .. (b.length()-1)
if b[i] == bli+1] || b[i] == bl[i-1]
m = mtl
end
end
m
end

def birthday3(b)
n = b.length()
¢ = Array.new(365)
for i in 0 .. 364
c[i]=0
end
for i in 0 .. (n-1)
c[bl[il] = c[b[i]] + 1
end
sum = 0O
for i in 0 .. 364
if c[i]>=2 then sum = sum + c[i] end
end
sum
end

000517 (0000000D)0000000000O0DO0ODO0ODOODOUOLO0ODOO0OD a0000O0
mergesort_r(a) DOO0O0O mergesort_r.rb 00000000 0OODO a000000OO0O0OOOOOOO
00000000000 a000C0O0O0O000O0O0O0pOOOOODOOOOOOO0qgOOOOOOOOOO
20000 merge 000000O00O00O0O000 a00OCOCOCOOOOOOOOODODOODOOODODOOOOO
0000o0o0o000ooo000oooO000oooO000o0oOoO0O000DO0O000a0l0000TY
000000000000 o0000o0o0000o0O00ooO0O000O0 a0l 0000 Yy000000O00ODO
00000000 merge_rec(a,l,r) 00000000000 O0D0O0OO0O0O0O0OO0O0ODOOOOODO

el=r000000000000000a]00000000000100000000000000
el<r00000I00r000200000000000000000000000 merge 01000
0oo
lL.m=(1+4r)/20000
2,100 m0000m+1 000000000 merge_rec 0000000000 (00)0(000
0000 b,c0000)
3.b0cOmerge J000000000000000000000

merge_rec 000000 Omergesort_r(a) O merge_rec(a,0,a.length(O-1) 000000000000

oooos.17

def merge_rec(a,l,r)
if 1==r
ary = Array.new(1)
ary[0] = alll
ary
else
= (1+r)/2
= Array.new(m-1+1)
= Array.new(r-m)
= merge_rec(a,l,m)
merge_rec(a,m+1,r)
merge (b, c)

o ocooB



end
end

def mergesort_r(a)

if a == nil then return nil
else
merge_rec(a,0,a.length()-1)
end
end

000518 (0000)0000000DOODO0ODODOO0DOODOODOO0OOODO0ODOODOOOOOOOO
OD00O0Omax0D0OO0O0DOD0O0OOO0O0ODO adOD0OO0O binsort(a,max) 00 OO0 binsort.rb OO OO OO
00000000O0000O0O00OO0O00OU00bDO0OO0ObOO0OODO (3,1,4,1,5)00000000000D0
ooo00SsS000000000000(0,2,0,1,1,1]000000000000000000O00OOOO
0000000000000 UULUUUOoOooooog

1. max 0000000000 a000000000 count(a,max) 000000000000 0OO max
0000000000 (0D o00D)i00D0ODi0Da00000O0ODOOOODO

2. 00000000 cO000000000O0O0O00O rebuild(c,n) DOOODOO0OOOOC nOOOOO
0000000 (0D00: 00000n000000000c[0]0010c¢[1]0020c¢[2]00000
000ooooOooooooo)

3. count 0 rebuild 0000000000 O0O0O binsort(a,max) JOO0O0OO0OO0O00O aOd 000 max
do00O0O0oOoOoOoOoooooo

oooOoOb.18

def count(a,max)
ary = Array.new(max)
for i in 0 .. (max-1)
count = 0O
for k in 0 .. (a.length()-1)
if alk]l==i
count = count+1
end
end
ary[i]=count
end
ary
end

def rebuild(c,n)
ary = Array.new(n)
index = 0
for i in 0 .. (c.length()-1)

if 0 < c[i]
for k in 0 .. (c[i]-1)
arylindex] = i
index = index+1
end
end
end
ary

end

def binsort(a,max)
ary = Array.new(a.length()-1)
aryl = Array.new(max)
aryl = count(a,max)
rebuild(aryl,a.length())

end



6 60

oooe.10

0006.2 (Simpson 0000000)

Te n—1
/ F@)dz = 3 2 {f (s +2iA7) + 4f (2, + (20 + 1)AT) + F(z, + (20 +2)An)} Az

1
3
n—1
{f(xs)+4f(xs—|—Ax)+f(xe)+2(2f(:1:s+2iA1:)+4f(x3+(2i+1)A1:))}
=1
00000000000 simpson(xs,xe,n) 000000(00: 00000000000 Az0000
00 1/200000000)
b) 00 6.1 0000 simpson(xs,xe,n) 00000000000000000

ooo00oe.2

#6.2 Function f has already defined.
def f(x)

return x/((x+1)*(x+2)*1.0)
end

def simpson(xs,xe,n)
sum = 0
dx = (xe-xs)/(2xnx1.0)
for i in 1..(n-1)
sum = sum + 2*f(xs+2*ixdx) + 4x*f (xs+(2%i+1)x*dx)
end
return dx*(f(xs)+4*f (xs+dx)+f(xe)+sum)/3.0
end

oooe.30O

00064 (000000O00)D0D0000ODOO0OOOOOOODOOOOODOOOO

a) 000000000DO0OD0O0O0OOODOODOOOO

b) 0000000000 DOD0OO0ODOODODOOOOOOUO0OD (D0D0O0D0O0O0O0D0ODO0OOD0O0ODODOOO
0000000000000 00DO0O0000D0o0OooOooon)

¢) 52000000000000000D0OO00OODODOOODDOOOODOOOOODOOOO

0000640
a) 0000000000000 000000O00O0OO0
b) 00000000000 00O0O0OO
c)0000000000000O00000000O00DO0DO0U00O0O0ODO00O00DO0O0DOO0O0ODOO
O00oooggs1ioooons2000000000d

000650 (DOODODDOOD)

a) OOODODODOOIEEE74 0000000000000 000D0O0DOO0ODO0O0ODO0O0ODO0O0ODOOOD
dll,dg dy...d2s

S ——
1000000011111111011000000000000000000000
b) DODOUIEEE 74 0000000000000 0D0OOOO S,da,...d;,dl...d23[] gboooogoog
(a) 1.0




(b) 31457281
(c) 5/65536(10)(= 7.62939453125 x 10~°)

ooooe6.s

a) 00000000000000000O0
(=1)* x 1.11000000000000000000000(9) x 2
0000000001.75 x 227 = 2.894802 x 1038
b) (a) 1.0 = +1.0000000000000000000000 x 2°M =270 17 00111111100000000000000000000000
(b) 3145728 = +1.10000000000000000000000 x 2'0010190=127F 17 (1001010010000000000000000000000
(c) 5/65536 = 5¥271% = 41.01000000000000000000000x 2°1119001=12717 17 90111000101000000000000000000000
00000000000000000000000000000

111111105y —127
(10)

oooe.60
ooboboooooooooboon

oooe.7O

000000 68 (0000O0O0OO)IEEE7 000O0O0D0O0OO0OO0OOOUDOOOODOOOOODODOO
oooboboooboooobooOoooOoOoboOoOobOOo0oOobOoOooooOoOoOoOoOOoOoOoOboOooDo

ooo 0ooo
ihEEEEEE 23 52
00000 (o) logio(22T) ~ 7 log10(2°%T1) ~ 16
Ooo0ooooo 8 11
ooooo 27126 ~ 12 % 10738 271022 9 9 % 107308
oDooo 2127 ~ 1.7 x 1038 21023 ~ 9.0 x 1037
ooo 2x1.7x10% ~3.4x10% | 2x9.0x 1037 ~ 1.8 x 103°8

0006.9 (Pivoting 00 0) 00 maxrow(a,k) 00000000 pivoting 00 Gauss-Jordan 0 0 0 O
goo0o0ooooboobo 10oo0b0oboboboooboooooobOobUobo

ooooe.9

load("./abs.rb")
#load("./swap.rb") #exercise 3.10, 00 a 0 i 000 j OOOOOOOOOOOOO
def swap(a,i,j)
ai = ali]
aj = aljl
alil = aj
aljl = ai
a
end

def maxrow(a,k)
maxValue=0
max=0
for i in k..a.length()-1
if abs(al[i] [k]) >= maxValue
maxValue = abs(al[i] [k])
max = i
end
end
max
end

def gjp(a) # Gauss-Jordan method WITH pivoting
row = a.length()
col = a[0].length()



for k in 0..(col-2)
max=maxrow(a,k) # find absolute-maximal coeff.
swap (a, k,max) # swap rows
akk = alk] [k]
for i in 0..(col-1) # normalize row k
alk] [i]=alk] [i]*1.0/akk
end
for i in 0..(row-1) # eliminate column k
if i =k # of all rows but k
aik = ali] [k]
for j in k.. (col-1)
alil[j1 = alil[j] - aik * alk][j]
end
end
end
end
a
end

000610 (000D0000)

V1—4¢? (q<%)

0 (q > 5)

p(0> d> u, U) =

000 g=|zcosf+ysinf —d |
0000 p(d,d,z,y) 000000 penetration(theta,d,x,y) 000000

ooo0De.10

include Math
def penetration(theta,d,x,y)
q = abs(x*cos(theta)+y*sin(theta)-d)
if q < 1/2
sqrt (1-4x*(q**2))
else
0
end
end

0006.11(000000D0)000 100000 L, 00000000 n0O0000O0OODMOOODOO
00 coefficients(1l,n) ODODODOOO

ogoooboell00000C0O0OOCOCOOOCOOOODOODOODOOO

class Num
attr_accessor("quotient","remainder")

def initialize(var,l)
self.quotient = var/1l
self.remainder = varjl
end

end

def coefficients(1l,n)
m = make2d (1l*n,l%*2)
for i in 0..m.length-1
for j in 0..m[i].length-1
numI = Num.new(i,1)
numJ = Num.new(j,1)
m[i] [j]1=penetration(numI.quotient*PI*1.0/n,numl.remainder,numJ.remainder,numJ.quotient) #penet
end



end
m
end

0006.12(00000000000OO0OOD)0000MO000U0ODOOOODOOOOsOOOOLO
000000000000 make_equations(l,n,m,s) 00000000010 100000n00000O
D000OmOIxn0’0 0000s0n0100000000000D0000Ixn024+1000000
OobobobocoiOmO00O000DOCOO0OOC sOO00ODOOOO0OOOOOO0O00

ooooe.12

def make_equations(l,n,m,s)
equations = make2d(l*n,l**2+1)
for i in 0..m.length()-1
for j in 0..m[i].length()
if j == m[i].length()
numI = Num.new(i,1l)

equations[i] [j] = s[numI.quotient] [numI.remainder]
else
equations[i]l [j1 = m[il[j]
end
end
end
equations

end

000613 (00000)00000000O0 s00 2000000000000 reconstruct(s)
0000000000000 O000O0O0O0D0DOLO equations_to_image(l,solved) 0O OO O
solved [ (DDDODDDDD)FDDDDDD PO00Ilx! 000000 200000000
0000000000000 000000Oreconstruct 0000000000 O0O0OO scans.rb
00000000 scani(),scan2(),scan3(),scan4() 000000 O0OO0OODOOOOODORO
(show(reconstruct(scan1())) 00000000 D0OO00O)

ooooe.13

def equations_to_image(1l,solved)
m = make2d(1,1)
for i in 0..m.length()-1
for j in 0..m[i].length()-1
m[i] [j] = solved[1xi+j] [1%*2]
end
end
m
end

def reconstruct (s)
n = s.length(Q)
1 = s[0].length()
m = coefficients(1l,n)
equations = make_equations(l,n,m,s)
solved = gjp(equations)
equations_to_image(1l,solved)
end
sSinT
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000614 (00000000000000000)00 g@) =3 DDDDDDD/ g(2)dz(0 O
ogx z

Ls

0z.<1)0000

a) 0000000000000 00D00OO0 trapezoid_sinlog(xs,xe,n) 000000000 nO0OO
oooogoo

b) Simpson 000000000000 O00DO0O simpson_sinlog(xs,xe,n) 000000000 n0ODO



goooooo
00006.14

#0000 00fd0ooooooooboobobObbobobo0o000doooooooa
include Math
def g(x)
sin(x)/log(x)
end

def trapezoid_sinlog(xs,xe,n)
deltax = (xe-xs)*1.0/n
sum = (g(xs)+g(xe))/2.0
for i in 1..n-1
sum = sum + g(xs+i*deltax)
end
deltax * sum
end

def simpson_sinlog(xs,xe,n)
sum = O
dx = (xe-xs)/(2*n*1.0)
for i in 1..(n-1)
sum = sum + 2*xg(xs+2*xixdx) + 4*g(xs+(2*i+1)*dx)
end
return dx*(g(xs)+4*g(xs+dx)+g(xe)+sum)/3.0
end

0006.15 (Monte Carlo 0000 300000)00 1000000 Monte Carlo000D00DOOO

4
0 montecarlo3d(n) 0000 ODOUOO0On 0000000 OOOODDO r00O00O00OO gwr3 gooooo
gbooooooobooboboboooooo

gooobe.ls0000O0OCOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOO

def montecarlo3d(n)
counter=0
for i in O0..n
x=rand () *2
y=rand () *2
z=rand () *2
if sqrt((x—1)**2+(y-1)**2+(z-1)*x2) < 1
counter = counter + 1
end
end
counter*8.0/n
end
T

0006.16 (Monte Carlo 00D OD0DO) OO f(x):mlj Monte Carlo 000D 00000
x x

00000 montecarlo_f(xs,xe,n) 0000000000 (xs,xe) 0 0<2s000000000O0ONnO
O0oo0ooooooodg: od (Xs,Xe)[]E]D[] f(x) go0do0oooooooooooooboooooo
0000000000z >000000< f(z)<3—-2V/20000

Oo000De6.16

def f(x)
x*1.0/ ((x+1)*(x+2))
end

def montecarlo_f(xs,xe,n)
counter=0
for i in 0..n-1



xs+(xe-xs)*rand()
y = rand () *(3-2*sqrt(2))
if y < £(x)
counter = counter +1
end

end

counter*(xe-xs)*(3-2*sqrt(2))/n
end

X

7 70

ooovr10O
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00074 (00000000000)0000 7.20 14 00000a[i[j-1], a[i-1][j-1], afi-1][j) 0000
afi] 000000000 DO000D0000 align 0000000(0D00:0000 710190000 22
0o)

oooov4

def align(s,t)

m = s.length()
n = t.length()
a = make2d(m+1,n+1)
afol[o] =0
for j in 1..n

al0]l[j1 = a [01[j-11 + gO
end
for i in 1..m

alil[0] = ali-1]1[0] + gO
end
for i in 1..m

for j in 1..n

#alil[j] OODOODO

v0 = ali-1][j-1] + q(s[i-11,t[j-1])
vi = a[i-11[j] + gO
v2 = ali][j-1] + gO

alil[j] = max3(v0,v1,v2)
end
end
a
end

00075 (00000000000O0ODO0U0ODOOODO)D0O0OD 730320003 0000000000
ooboboooooooooobooooooboo

def traceback (a,s,t)
u=""
v=
i

s.length()

j = t.length()

while i>0 || j>O

if j>0 && alil[j]l == alil[j-11 + gO
u = n_n + u

v=t[j-1..j-1]+v



j =] - 1# go left

else
if 1 >0 && j >0 && alil[j] == ali-1]1[j-1] + q(s[i-1] , t[j-11)
#0000o0ooobooo

u=s[i-1 .. i-1] + u
v=t[j-1.. j-11 +v
=3t
i=i-1

else

if 1 >0 && alil[j] == ali -11[ j1 + gO)
#00000ooooo

v ="-"+y
u=s[i-1 .. i-1] + u
i=i-1
end
end
end
end
[u,v]
end
godadvr.ed

00077 (00000O00)00000000O00O000 dict 000000000 word DODODOOOO
O00word DO0OOO0OO0O0O0O0DODODOO spell(dict,word) 0000000000000 O0O0O0O0OOOO
cobobobooobooobooooooooooooo

load ("./align.rb")

def spell(dict,word)
#000000000000000000000 alignrecO00000O000O0O0OOOOOOOO dictD
align recO00000000000O000O0OOOOOOOOOOOOOOOOOOO
alignRec = align_rec(dict[0],word)
counter = 0
for i in 1..dict.length()-1
if align rec(dict[i],word) > alignRec
counter = i
alignRec = align_rec(dict[i],word)
end
end
dict[counter]
end

8 80

cooooobobooboooobooooooOoOoooOoboOoOoboOoOoOoOoOoOoOoOoOboOobOobOOoOoOobOOoOoOoOoDnn
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include Math
class Point
attr_accessor("x","y")

def initialize(u,v)
self.x = u
self.y = v

end

def scale(s)
Point.new(self.x * s, self.y * s)
end



def add(q)
Point.new(self.x + q.x, self.y + q.y)
end

def sub(q)
Point.new(self.x - q.x, self.y - q.y)
end

def draw(a)
if 0 <= self.y+0.5 && self.y+0.5 < a.length() && 0 <= self.x+0.5 && self.x+0.5 < a[0].length
a[self.y+0.5] [self.x+0.5] = 1
end
end

def interpolate(q,t)
b = self.scale(t)
c = q.scale(1-t)
b.add(c)

end

def rotate(theta)
Point.new(self.x * cos(theta) + self.y * sin(theta), self.x * sin(theta) + self.y * cos(theta))
end

def move(p)
self.add(p)
end

def turn_at(p,theta)
q = self.move(p.scale(-1))
¢ = q.rotate(theta)
c.move (p)
end
end

class Line
attr_accessor ("p0","p1i")

def initialize(q,r)

self.p0 = q
self.pl = r
end

def draw(a)
n = max(abs(self.pl.x - self.p0.x),abs(self.pl.y - self.p0.y))
for i in O0..n
p = self.p0.interpolate(self.pl, i * 1.0 / n)
p.draw(a)
end
end

def turn(theta)
self.p0 = self.pO.rotate(theta)
self.pl = self.pl.rotate(theta)
end

def move(p)
self.p0 = self.pO.move(p)
self.pl = self.pl.move(p)
end

def zoom(s)
self.p0.scale(s)



self.pl.scale(s)
end
end

class Bezier < Line
attr_accessor("p0", "c", "pi")

def initialize(q,r,s)

super(q,s)
self.c = r
end

def draw(a)
n = 20
prev = self.pl
for i in 1..n
t=1%1.0/n
q0 = self.pO.interpolate(self.c, t)
ql = self.c.interpolate(self.pl, t)
T q0.interpolate(ql,t)
Line.new(prev, r).draw(a)
prev = Point.new(r.x,r.y)
end
end

def turn(theta)

super (theta)
self.c = self.c.rotate(theta)
end

def move(p)

super (p)

self.c = self.c.move(p)
end

def zoom(s)
super(s)
self.c.scale(s)
end
end

class Circle
attr_accessor("center","r")

def initialize(p,r)
self.center = p
self.r = r

end

def turn(theta)
self.center = self.center.rotate(theta)

end

def draw(a)

n = 20
q = Point.new(self.center.x + self.r, self.center.y)
prev = q

for i in 1..n
r = q.turn_at(self.center,PI * i * 2.0 / n)
Line.new(prev,r) .draw(a)
prev = Point.new(r.x,r.y)
end
end



def move(p)
self.center = self.center.move(p)
end

def zoom(s)
self.center.scale(s)
self.r = self.r * s
end
end

ooos810d

DDD8.2(3DDD)3DD Bezier 000040 p0,c0,cl,pl 0000000 0OD0OOOOOOODOOOO
oooooo S(t)DDDDDDD
qo(t) = (1 = t)po + teo, qi(t) = (1 —t)co +ter, q2(t) = (L —t)er +tps
ro(t) = (1 —t)qo +tq1, m1(t) = (1 —t)q1 +tqe
s(t) =1 —t)rg+try

a) 00000000300 BezierJOOOOOO bezier_draw3(p0,cO,cl,pl,a) 000000
b) 000000000 ODOOUOO0OOOOOO0OD kxana3() 0OODOO

(323, 25), (210, 553), (-1, 361), (0, 242), (-1,-71), (242,-24),
(269, 234), (307, 448), (390, 347), (399, 302)

(00810000 S000U0U0LO0DODUDUOLUOLDODOD 30000O00OLO)ODODO
000000003¢,3i+1,3:+2,3:+300000000 100 BezierJO0OOOOO0DODOOO
¢) 0000000000 DUOD0ODOOD0ODOOU0ODO mypicture3) OOODOODO

00008.2a),b)

#a)
def bezier_draw3(p0,cO,cl,pl,a)
n = 10
prev = p0
for i in 1..n
t=1%1.0/n
q0 = point_interpolate(p0,cO,t)

ql = point_interpolate(c0O,cl,t)
g2 = point_interpolate(cl,pl,t)
r0 = point_interpolate(q0,ql,t)
rl = point_interpolate(ql,q2,t)

s = point_interpolate(r0O,ril,t)
line_draw(prev,s,a)
prev = s
end
end

#b)
def kana3()
a = make_points([323,25, 210,553, -1,361, 0,242, -1,-71, 242,-24, 269,234, 307,448, 390,347, 399,3
b = make2d(400,400)
for i in 0..2
bezier_draw3(a[i*3],al[i*3 + 1],a[i*3 + 2],a[i*3 + 3],b)
end
show (b)
end

#c) OO



00083 (00000D0OODODN) po = (x0,90),¢c = (xze,yc),p1 = (21,y1) OOODODDOOODO 200
Bezier 1000000 bezier_nr(a,x0,y0,xc,yc,x1,y1) 0000000000000 00000O00O 84
0000000000000 00D0000O0? (0D: 00020000 X000YOODOODOOOOO1
goboobooboooboobooobobooboobbooboobbooboobbobDbooboo
00o0ooooooooo)

ooooss

def bezier_nr(a,x0,y0,xc,yc,xl,yl)
n = 10
prev_x = x0
prev_y = yO
for i in 1..n
t=1%1.0/n
q0_x = interpolate(x0,xc,t)
q0_y = interpolate(y0,yc,t)
ql_x = interpolate(xc,xl,t)
ql_y = interpolate(yc,yl,t)
r_x = interpolate(qO0_x,ql_x,t)
r_y = interpolate(qO_y,ql_y,t)
line_draw_nr(prev_x,prev_y,r_x,r_y,a)
prev_x = r_x
prev_y = r_y
end
end

00084 (0)000L0DUODODUOLDODUODOO

a) 0 p000D0O0O0O0OD theta 000D OD0OO0ODDOOODDODO rotate(p,theta) OO O

oooooooD (x,yy DDDODODODODD AOO0OOOOOOODODODODODODODODOOOOO
(xcosh — ysind, xsind + ycosh)

b) DpUOO0O0O00O0r000020000 a0000000OO circle_draw(p,r,a) 0O00O0OODO(ODO
0. 000000000000000000000000000000000ONOOOODOODOOOOn
00000Di000DOoD (r,0)0D0OD00OO0 2/NODODODODOODODODOD pOOODOOOOOOO
ooo)

oooosd

#(a)

def rotate(p,theta)

point_make(p.x*cos(theta) - p.y*sin(theta),p.x*sin(theta) + p.y*cos(theta))
end

#(b)

def circle_draw(p,r,a)

n = 20

q = Point.new(p.x+r,p.y)
prev = q

for i in 1..n

s = rotate_at(prev,p,PI * 2.0 / n)
line_draw(prev,s,a)

prev = s

end

end

def rotate_at(p,q,theta)
r = Point.new(p.x,p.y)
r=r.add(q.scale(-1))
r=rotate(r,theta)
r=r.add(q)

r



end

00085 (0000D00U0L0DODN)Point 0OO0DODO (DOOD86)I0DODUODODODODOO
ooooocooon

=

0qO0000000 sub(g)

2000 2000000 draw(a)

O0qO(1-t): t00000000 interpolate(q,t)

0000000 theta 000000000000 rotate(theta) 10000 (x,y) 0000000 6
000000000000000000000

(xcosh — ysinb, xsind + ycosh)

=)

o

o
D D

00086 (0000)00DOU0ODO Circle000ODO0DOODODOUODODOODOO

e 00 pUIOIUIUIUOIr000D0OCOOCODCODODO initialize(p,r)
e 2000 a00000 draw(a)
e J00UOO thetaOODODOODODOOO turn
00087 (0000000D0)Dp00UOL0ODDO thetaOOODODOODOOOO turn_at(p,theta)
doodooono pbObODbOO0OO00OO0Ooooog (1)DDD!pDDDDDDDD (Q)DDDDDDDDDD(?))p

0000000000000 O0move(p) 00000000000 pO0O0OOO0DOOOOOODOODOOOODO
oobobooooooooobooooobobooooo

def turn_at(p, theta)
self .move(p.scale(-1)) # -p DO O OO0
self.turn(theta) # 00O OOOO
self.move(p) # p OODOODODO

end

00000 Line ,Bezier DODOODO 8600000 Circled 3000000DO0OO0OOOOOODOOOO
gobogooog

a) 0000 pO0OD0D000D0O0OO0DDOOOD move(p) O Line, Bezier 00000 8.6 00000 Circle
030000000000Db0DbOonO

b) Figure 000000000000 DDO0OODOOOOODOD turn_at 0000000

c¢) 000 LineO Circled Figure 0000000000000 0O0OODOODOOODODODOOODODOOOO
O00000 890 turning figureO e D000 1000000000000 DOOODOOOOODOO
gooboboboooog

00008.7 keep
DDD8.8(3DDDDDDD)3DD Bezier 00D000D00O0DO Bezier3 OOBezier OO OODOOO
[ID(?)DI:I Bezier 000000 D0O0O 8.2|:|[||]|:|D|])

ooooDs.s

class Bezier3 < Bezier
attr_accessor ("p0","c","cO0","p1")

def initialize(p0O,c,cO,pl)
super (p0,c,pl)
self.cO = cO

end

def draw(a)
n =10
prev = self.pl
for i in O0..n
t=1%1.0/n
q0 = self.pO.interpolate(self.c,t)



ql = self.c.interpolate(self.cO,t)

g2 = self.cO.interpolate(self.pl,t)
r0 = q0.interpolate(ql,t)
rl = ql.interpolate(q2,t)

s = r0.interpolate(rl,t)
Line.new(prev,s) .draw(a)
prev = s
end
end

def turn(theta)

super (theta)
self.cO = self.c.rotate(theta)
end

def move(p)
super (p)
self.c0.move(p)
end
end

ooo890d

000810 (00000)0D f000000UDOULOUOUDLUOUDOOUDUD thetaODODOODOO
turnall(f,theta) OO0 OO0
Ooooos.1o

def turnall(f,theta)
for i in 0..(f.length-1)
f[i] = f[i].turn(theta)
end
end

000811 (00000)0000000 oofacerb 000DO0OODDON face DODOODOODODODODO
000000000000 000 drawall 0000 400x4000000000000000O0O0O0O0ODOOO
Ubob0 face O OgOobOooboobbOoO0obOO0ODbOOO0ODOODDOODOODLDODODDOODOO

a) 00000000000 sO00000000O00O0OOOO zoom(s) 0OO0ODO Line, Circle, Bezier
gooboboboooooooboobobobooooog

b) D000 81200000000 faces, whirl 0000000000000 OOOODOOOOOODO
gooboooo

¢) 000000O00DO0O0O0DO0OOO0O0O0OOODDO0OU0OOO0DDOODDOO0OOOO0D art() OOO
oogd

9 90O

ooo910O

00092(000000)09.2(000000)00000000

ooobooooooon
ooooooooooooon
ooooooooooooon

hamada 00000000 OCOOO
hamada 00000000 OOOOOCOO

G W=

oooo9.2



a) Contact

b) Contact2,Contact3,Contact6,Contact?
¢) Contact,Contactl,Contact4,Contact5
d) Contact

e) Contact2,Contact3

ooo930

00094 (000000) 000 pO0ODOOODDDODOOODDDOOOODDDOOODODDODODO
first_contact(p) 00000 first_contact.rb 000000 (0D0DO: DDO0DOO pOOO (left) O
0000000000o0oo0oooooon)

oooo94

#00000O0OO
def first_contact(p)
if p.left == nil
P
else
first_contact(p.left)
end
end

#0 0000000
def first_contact_w(p)
while p.left != nil
p = p.left
end

P
end

00095 (00000000) 0000 r00000000D00DO0OO0ODOODN request_length(r)
00000 request_length.rb OO0 DO(0DU0: D000 r000000000O0O0OO rmext 00D
0000000000 0oo0oooooooo)

ooo0o9.s

def request_length(r)
if r == nil
0
else
l+request_length(r.next)
end
end

00096 (00000000)

def delete_request(r,t)
if r.title ==
r.next
else
r.next = delete_request(r.next,t)
r
end
end

oooooooooooOooOoooOoboOoooOooOooO0oOooO1000000000O0000O00O0O0O0O0O0
ooooooO0oobOooooooOoOooOooO0o0oOooOoboO0oOooObooOoOooOOoOoO0ooOooOboO0OooOboOoOoDoOoOn
Ooooooo0ooooOoocoooooooDooOoooOooO0oOOoboO0OoOO0cO0O0ObOcbOO0OooDOboOoOoDoOOn
delete_request.rb 00O OO0



oooo9.6

def delete_request(r,t)
if r.title == ¢t
if r.next != nil
r = r.next
r = delete_request(r,t)
else
nil
end
else
if r.next != nil
r.next = delete_request(r.next,t)
r
end
end
end

00097 (000000)0000r0D00000D0OODOODOOODOODOOOOODOODOOODOODOOO
s0000000000000D000000DO0OO000 add_alphabetically(r,s) OOOOOOOOOO
gbooooooooboboboobot+toooobooboobobobooboooboon

t.title < u.title (0 00 u = t.next)
0000 92200000000000RWby 00000 <, >00000000000000((QOO:OD
00000000000 add_alphabetically(r,s) 0 sO0r0000000000000DOO0O0ODOY)

oooo9gr

def add_alphabetically(r,s)
if r.title > s.title
s.next = r
s

elsif r.next == nil
r.next = s
else

r.next=add_alphabetically(r.next,s)
r
end
end

00098 (D000D)0000D000DDOOO0DDLODODOODOOOODOD

def make_cycle(list)
last = last_request(list)
last.next = list
list

end

a) view(make_cycle(ut_songs())) 00000000 O0ODOOOOODOOODOODOODOOD

b) 0000000000 OOO0OOOOODOOOOOD0OOOOOO0OOODOODODOODOODOOOOO?

c) 0000000000000 0O00O0D0O00O00O00O0DO00O0D0O0000000000O00O0O0OO0 (O
0oooOooooo)oooooo?

oooo9.s8

a) 00O
b) 0000000000000 OOOUD0OOODOUOOOOUODO
¢) last_request ,add_request ,request_length.delete_request 00

00099 (0000000000)0000D0 Request 000000000 DODOOOODOODOOO
000 Karaocke 00000 karaokerb 00O OO0OO0O0O k = Karaoke.new() 00000 k O Karaoke O



0000000000000000000 Karacke 0000000000000 0OO0O0OOOO

k.add("Tadahitotsu") OO0 OOO0OOOO0OO0OOOOOOOOO
k.add_top("Tadahitotsu") OO DO0O0O0OOO0OOOOOOOOOCOO
e k.play_next() 000000 DOOOOOOO
k.cancel("Tadahitotsu") D0 0000000000000 O00O0O00OO

oooo9.9

000910 (000000000D)000000000D000000D add_request JO0ODOODODOO
goboobooboobooooooodbooooodoonoooooooboobO nOOO0OO0OOOO
0000000000000 00D)00000000000000000000D00O0O0D0O0O0OOO0
O0000000000000000000000 last 0000000000000 last 000000000
next 00 0000000000000 OO0O0O0O0COOOO0OOO0O0O000O00OO0O0O0DOOOO00O0000O0
0000000000000 000000 last 0000000 DDOOO0DOOOODOOODOOODOOO
00)009900000 Request 10000000000 OD0OO0DOOO0DDOOODOO Request 0000
00000 last 0000000000 add 0000000000000 0000 Karacke OOOOOOODO
oooooooooooOoObooOoOboObOOObOOOO0l10DO0O0O0O0OOoOoOODOOODOOOOOOOOOOO000
ooooo

oooo9.1o

class Karaoke
attr_accessor("list")

def initialize()
self.list = Request.new(nil)
end

def add(title)
if self.list.title == nil
self.list.title =title
else
s = Request.new(title)
last = last_request(self.list)
add_request(last,s)
end
end

def add_top(title)
if self.list.title == nil
self.list.title = title
else
s = Request.new(title)
s.next = self.list
end
end

def play_next()
self.list = self.list.next
end

def cancel(title)
delete_request(self.list,title)
end
end

class Request
attr_accessor("title","next","last")



def initialize(t)

self.title = t

self.next = nil

self.last self.last_request
end

def last_request()

if self.next == nil
self
else
self .next.last_request
end
end

end
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def size(p)
if p == nil
0
else
1 + size(p.left) + size(p.right)
end
end

def nth(p,n)
if n == size(p.left)
P
elsif n < size(p.left)
nth(p.left,n)
else
nth(p.right,n-size(p.left)-1)
end
end
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def depth(p)
if p == nil
0
elsif p.left != nil || p.right != nil
1 + max(depth(p.left),depth(p.right))
else
1
end
end

def max(x,y)
if y <x



X
else

y
end

end
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def array_to_tree(a)
p = makeld(a.length-1)
pl0] = Contact.new(a[0],nil)
for i in 1..(a.length-1)
pli]l = Contact.new(al[i],nil)
pl0] = add_contact(p[0],pl[il)
end
plo]
end

def tree_to_array(p,a,i)
for n in i..(i+size(p)-1)
a[n] = nth(p, (n-1i)) .name
end
a
end

def binarysort(a)
p = array_to_tree(a)
tree_to_array(p,a,0)
end
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def choose_root(p)
if size(p.right) >= size(p.left)

q = first_contact(p.right)
r = delete_contact(p.right,q.name)
gq.left = p.left
q.right = r
q
else
q = last_contact(p.left)
1 = delete_contact(p.right,q.name)
q.left = 1
q.right = p.right
end

®
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def last_contact(p)
if p.right == nil
p
else
last_contact(p.right)
end
end
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load("./oo-group.rb")

load("./oo-face.rb")

g = Group.new(face())# face() OO 8.11 OOO
a = make2d(400,400)

g.draw (a)

show (a)
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